Model {
#Loop over studies reporting 2x2 tables. i=rep no., k=test no. in
study j
for (7 in 1:N1) {
for (k in l:ntests[]j]){
for (i in l:nreps[j,k]){
tpli,j,k]~dbin(pil([i,J,k],pos[i,3,k])
#Likelihood
fpli,j,k]l~dbin(pi2[i,J,k],negli,],k])
tphat[i,j, kl<-pil[i,Jj,k]*pos[i,],kl]
#Fitted values
fpohat[i,J,k]l<-pi2[i,],k]l*negli,j, k]
dev.tpli,j, k]<=(2*(tpl[i,J,k]*(log(tp[i,J, k])~-
log(tphat[i,J, k])) #Deviance contibution tp
+ (posli,j,k]-tpli,J,k])*(log(pos[i, ], k]l-tpli,J, k]) -
log(pos[i,j,k]-tphat[i,j,k]))))
dev.fpli,j, k]<-(2* (fpl[i,J, k] * (log(fp[i,J, k])~
log (fphat[i,j, k1)) #Deviance contibution fp
+ (negli,j,k]-fpli,J,k])*(log(neg[i, ], k]-fp[i,J, k]) -
log(negli, j,k]-fphat[i,J,k]))))
}
dev([j,k]<-sum(dev.tp[l:nreps[Jj,k]l,J, k]) +
sum(dev.fp[l:nreps([j, k], J,k])
}

sumdev[j]<-sum(dev[j,l:ntests[]]])

totresdev<- sum(sumdev|[])

#Loop over all studies
for (7 in 1:(N1)){
for (k in l:ntests[j]) {
for (i in l:nreps[j,k]){
logit(pil[i,J,k])<- betalt[j,k]]*thetali, ], k]
+alphali,j,kl1/2 #Model for sensitivity
logit(pi2[i,j,k])<- thetali,]J,k] - alphali,j,kl/2
#Model for (l-specificity)
theta[i, j,k]~dnorm(greg[i,j, k],p.-reps[l])
#Between study variability

alphali,j, kl~dnorm(aregli,j,k]l,p.reps(2])



# Regression
qregli,j, k]<-qlj, kl+(x[i,], k]~
mean.x[t[j,k]]) *gamma [t [, k]]
aregli,j,kl<-alj,kl+(x[i,7,k]-
mean.x[t[],k]])*lambda[t[], k]]
}
qlj,k]~dnorm(Q[t[j, k]],p.stud[1]) #Between
study variability
alj,kl~dnorm(A[t[]j,k]],p.stud[2])

#PRIORS

for (k in 1:NTests) { #Loop over tests
Q[k]~dnorm (0, .0001)
A[k]~dnorm(0, .0001)

# Regression coefficients
gamma [k] ~dnorm (0, .0001)
lambda [k]~dnorm (0, .0001)

log(beta.truel[k])<-1l.beta.true

betal[k]<- include.slopelk]*beta.truel[k] + (l-include.slopelk])
}
l.beta.true~dnorm (0, .0001)

for (m in 1:2) {
p.stud[m]<-pow(sd.stud[m], -2)
p.reps[m]<-pow(sd.reps[m],-2)
sd.stud[m]~dunif (0, 5)
sd.reps[m]~dunif (0,5)

# Save the prior distributions
sd.stud.prior[m]~dunif (0,5)
sd.reps.prior[m]~dunif (0,5)

# Posterior and posterior predictive distritbutions

for(k in 1:NTests) {
theta.pred[k]~dnorm(Q[k],p.stud[1l])
alpha.pred[k]~dnorm(A[k],p.stud[2])



logit (sens.pred[k])<-
betalk] *theta.pred[k]+0.5*%alpha.pred[k]
logit (fpr.pred[k])<-theta.pred[k]-0.5*alpha.pred[k]

spec.pred[k]<- 1 - fpr.pred[k]

logit (TPR[k])<-(betalk]*Q[k]+A[k]/2)
logit (FPR[k])<-(Q[k]-A[k]/2)
sensitivity[k]<-TPR[k]
specificity[k]<-1-FPR[Kk]

# Diagnostic odds ratio

dor[k]<-(sensitivity[k]*specificity[k])/ ((1-
sensitivity[k])* (1l-specificity[k]))

#DOR[k] <- exp(A[k])





